CALCOLO MENTALE

- OSSERVA LA LINEA DEL 100 QUI SOTTO E CALCOLA IN RIGA. ESEGUI
PRIMA LA COLONNAA, POI LA COLONNA B. SCRIVI IL RISULTATO NEI

RIQUADRI.

Colonma A
20+10+10=

20+20+ 20 =
30+10+10=
30+20+20=
40+ 10+ 10=
50+ 20+20=
50 + 20 + 10 =

50+10+10=

50+ 30=

50+30+10=

50+40+10=

50 + 50 =

60+ 10+ 10 =

60 + 20 + 20 =

70+ 30 =

80+10+10=

ADDIZIONE
Leloama B

20+10+5=

20+20+8 =

10+20+15=

10+10+ 10+

30+20+11 =

40+ 20+ 11 =

40+10+11=

9=

50+10+7=

60 + 20+ 14 =

60+30+8=

25+25+11 =

31+10+15=

11+11+11=

11+19=

41 + 25 =

55+31+9=
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